SET 2 : – (BIOLOGY)

1. Blue eye colour in humans is recessive to brown eye colour. The expected children of a marriage between a blue eyed woman and a brown eyed man who had a blue eyeed mother will be

a. All blue eyed

b. All brown eyed

c. All black eyed

2. If genes A and B show supplementary gene effect for mice coat colour, such that aa is rescessively epistatic to B, what would be the ratio of agouti, black & albino in the cross aaBB × AaBb

a. 1 : 2 : 1

b. 1 : 1 : 2

c. 2 : 2

d. 4: 3 : 1

3. A tobacco plant heterozygous for albinism (a recessive character) is self pollinated and 1200 seeds are subsequently germinated. How many seedlings would have the parental genotype

a. 900

b. 600

c. 1200

d. 300

4. A person meet with an accident and great loss of blood has occured. There is not time to analyse his blood groups. It is safe to transfuse blood of

a. AB, Rh+

b. AB, Rh¯

c. O, Rh¯

d. O, Rh+

5. When chicken on F1 generation are mated among themselves, they produce an F2 generation of four kind of birds, as far as comb type and plumage colour are concerned in the following proportion 9 rose comb blacks, 1 single comb white, 3 rose comb whites, 3 single comb blacks. Based on this find out which two are the recessive characters in these birds

a. Black plumage and white plumage

b. Single comb and white plumage

c. Rose comb and single comb

d. Rose comb and black plumage

6. In Spallanzani’s experiment, one set of flasks had access to air through holes in the corks and the other set did not. In the set which had access to air, the contents showed abundant growth of microorganisms. What inference can be drawn from this experiment?

a. Spontaneous generation needs contact with air

b. Spontaneous generation does not need air

c. In the set of jars which were closed with corks, the contents had not been boiled thoroughly

d. Air must have got into the jars through the holes in the corks and must have carried the microorganisms along with it

7. In its most widely accepted sense, organic evolution mean, i.e., the “Doctrine of evolution” is particularly concerned with

a. Descent with modification

b. Special Creation

c. Spontaneous growth

d. Environmental conditions

8. The Theory of Recapitulation means that

a. All animals start as an egg

b. Life history of an animal reflects its evolutionary history

c. Body parts once lost are regenerated

d. Progeny of an organisms resembles its parents

9. Which one is a pair of homologous organs

a. Wings of grasshopper and crow

b. Wings of bats and butterflies

c. Lungs of rabbit and gills of rohu

d. Arm of monkey and arm of human

10. According to the theory of evolution, all of the different kinds of homologies-namely, anatomical,molecular, and embryological should

a. be completely independent of each other

b. produce similar patterns of evolutionary relatedness

c. yield very different hierarchical patterns

d. link all of the species currently present on earth

11. Wheat plant is 6n = 42. What will be the number of chromosomes in it’s Monosomic, haploid and Trisomics?

a. 41, 21 and 7

b. 43, 21 and 7

c. 15, 7 and 7

d. 13, 7 and 15

12. X-rays cause mutation by

a. Transition

b. Transversion

c. Deletion

d. Base substitution

13. The chromosomes bearing loops for rapid transcription and informosomes production are

a. Lampbrush chromosomes

b. Polytene chromosomes

c. SAT chromosomes

d. B chromosomes

14. Which of the following histones is associated with linker DNA?

a. H1

b. H2A

c. H3

d. H4

15. Mutations

a. Are the ultimate source of genetic variability

b. Are goal directed

c. Are commonly occurring phenomenon

d. Arise as a result of, or in anticipation of environmental necessities

16. Which of the following is not a characteristic of natural selection?

a. Natural selection causes genetic changes in individuals

b. Natural selection acts on individuals but evolution occurs in populations

c. Fitness of an organism is measured by its reproductive success

d. Natural selection is not the only evolutionary force

17. Speciation is the process by which new species form. The scientist who played a major role in describing the process of speciation was

a. Charles Darwin

b. Ernst Mayr

c. G. J. Mendel

d. George Palade

18. The evolution of numerous species, such as Darwin’s finches, from a single ancestor is called

a. Adaptive radiation

b. Sympatric speciation

c. Gradualism

d. Convergent evolution

19. If a new allele suddenly becomes very abundant in, a population, most likely it is

a. Mutating rapidly

b. Flowing with emigrants

c. Strongly selected for

d. A product of assortative mating

20. In evolutionary terms, an organism’s fitness is measured by its

a. Health

b. Contribution to the gene pool of the next generation

c. Mutation rate

d. Genetic variability

21.Dominant gene for tallness is T and for yellow colour is Y. A plant heterozygous for both the traits is selfed, then the ratio of pure homozygous dwarf and green offspring would be

a. 1/4

b. 4/16

c. 3/16

d. 1/16

22. The ratio of phenotypes in F2 of a monohybrid cross is

a. 3 : 1

b. 1 : 2 : 1

c. 9 : 3 : 3 : 1

d. 1 : 1

23. The flightless bird, Kiwi is found in

a. Mauritius

b. Indonesia

c. New Zealand

d. New Guinea

24. Evolutionary convergence is characterized by

a. Development of dissimilar characteristics in closely related groups

b. Development of common set of characteristics in groups of different ancestory

c. Development of characteristics by random mating

d. Replacement of common characteristics in different groups

25. Which one represents a connecting link as an evidence from comparative anatomy in favour of organic evolution

a. Whale between fishes and mammals

b. Archaeopteryx between birds and mammals

c. Duckbill platypus between reptiles and mammals

d. Java ape-man between modern man and Peking Man

26. Two geographical regions separated by high mountain ranges

a. Palaearctic and Oriental

b. Oriental and Australian

c. Nearctic and Palaearctic

d. Neotropical and Ethopian

27. Most primitive living mammals which provide an evidence of organic evolution from geographical distribution are found in

a. China

b. India

c. Australia

d. Africa

28. Galapagos islands are associated with the name of

a. Wallace

b. Malthus

c. Darwin

d. Lamarck

29. Presence of temporary gill pouches in embryos of snakes, birds and mammals indicates that

a. These embryos need the pouches for breathing

b. Common ancestor of these animals had gill pouches

c. Lungs evolved from gills

d. Fluid medium in which these embryos develop has abundant O2

30. Pasteur succeeded in disproving the spontaneous generation theory, because

a. He was lucky

b. He was ingenious in drawing out the necks of the glass flasks so as to provide access to air, but not to the micro-organisms

c. Of the fact that the sample of yeast taken by him was dead

d. Of the clean surroundings of his laboratory

31. Geology and Zoology are intimately connected in

a. Archaeology

b. Palaeontology

c. Sociology

d. Zoogeography

32. 9: 3 : 3:1 ratio is due to

a. Incomplete dominance

b. Complete dominance

c. Espistatic genes

d. Polygenic inheritance

33. A mother of blood group O has a group O child. The father could be?

a. A or B or O

b. O only

c. A or B

d. AB only

34. Normal man without widow peak marries to a woman having widow peak (dominant character) produce a boy child with widow peak which marries to a normal female what is the probability to have a widow peak child in next generation

a. 100%

b. 50%

c. 25%

d. 0%

35. A dwarf pea plant was treated with GA. The plant became tall. The treated plant was then crossed with a homozygous tall pea. The results in F2 are expected to be

a. All tall

b. Tall and dwarf in 3 : 1 ratio

c. 50% tall

d. All dwarf

36. Presence of heterochromatin …… the frequency of crossing over

a. Increases

b. Decreases

c. does not effect

d. Is directly related to

37. In Melandrium, sex determination is of

a. XX–XO

b. ZZ–ZW

c. XX–XY

d. XY–XO

38. Higest number of chromosomes in plants have been recorded in

a. Marsilia

b. Aulosira

c. Ophioglossum

d. Parthenium

39. Mustard gas was used as a chemical mutagen for the first time by

a. Muller

b. Alterberg

c. Auerbach and Robinson

d. Stadler

40. Which of the following increases the frequency of crossing over when increased ?

a. Temperature

b. X rays

c. Radium radiations

d. All of these

41. Mendel observed that some characters did not assort independently. Later researches found it to be due to

a. Crossing over

b. Linkage

c. Dominance of one trait over theother

d. Amitosis

42. The condition required for Hardy- Weinberg equilibrium is

a. No mutation and no gene flow between populations

b. Very large population and random mating

c. There must be no natural selection

d. All of the above

43. Genetic drift is a

a. Random process

b. Directed process

c. Selection-driven process

d. Co-evolutionary process

44. Disruptive selection

a. Adapts individuals within a population to different habitats

b. Favours individuals who possess relatively extreme values for a trait at the expense of individuals with average values

c. Favours organisms at both ends of the distribution of the trait

d. All of the above

45. Allopatric speciation can occur in populations that are

a. Physically separated

b. In the same area

c. Physically non-separated

d. In the same area and within the same ecological conditions

46. Genetic basis of adaptation was demonstrated through experiments by

a. Lederberg

b. Hugo de Vries

c. Charles Darwin

d. Lamarck

47. Population of dark Biston betularia increased greatly in England from 1848 to 1898. The selective agent causing the change was/were

a. Tree bark

b. Birds

c. Human beings

d. Toxins from smoke

48. The smallest unit that can evolve is a

a. Species

b. Genotype

c. Gene

d. Population

49. ……… and ……… generate variation, while ……… results in adaptation to the environment.

a. Genetic drift ……… natural selection ……… mutation

b. Mutation ……… sexual recombination ……… natural selection

c. Overproduction of offspring ……… mutation ……… sexual recombination

d. Natural selection ……… mutation ……… sexual recombination

50. Two animals are considered different species if they

a. Look different

b. Cannot inter-breed

c. Live in different habitats

d. Are members of different populations
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